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1 BEERE VS 9 I PHETHR
= 1=
EERY TPNETHR TPNETHR EERY
it : 54K R =X it : ZAf R =R
B dEEX 78 . SR B3 : 5K/ FH 79 BEE
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T

1 |wx| m | 4s | 12| 50 | & | 3NT | +1 | 430 | o

2 |@kl m | 4c | = | 130 | & | 4c | = | 130

3 |%®@| % | 3NT | +3 | 600 | 7 | 6D | = |-1370] 12
4 |wal|l % |aNnT | +2 | 660| 7 | aNT | +3 | 690 | 1

5 |mib| dt 3C -1 | -100 | 7 2H = | -110

6 |®@m| 4t | 2s 1| 50 | & | 34 | -1 | 100 4
7 |wBEl &8 | aNT | = | 600 | 46 | 3¢ | = | 110 | 10

8 |wx|l m | aNT | = 90 | 4t | INT | = 90

o |%xm| & | eH | -1 | 50 | 4t | 6D | 2 | ;100 | 2
10 |[sa| 46 | aNT | = | 600 | 4t | 3NT | +1 | 630 1
11 [kl & | 2H | 2| 50 | %k | 1H | +1 | ;110 | 4
12 |gdt]l @ | 5s | +1 | 680 | 7 | 5Dx | -4 | 800 3

DATUM%iit 5 E
BEEREE I IETR v 5 ] 38 8

L £17K/1Z AR 4 X /5K BE -30 ait 38 8

TR/ EREE 30 BXfE/SEW -4 V.P. 17.4 | 2.6
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2 [N VS 3&EFA
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I TIREER I REE I REE I TIREER
it : BRLER IR R it K= X BER
g Xl/hag 7g : REI7R g JLEERR 7 : {aEE
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 | wxEl &= 3 | -1 | -50 A | 3NT | +1 | 430 | o
2 || dt 5C = 600 g | 3Sx | -2 | 300 7
3 |FAl & 4H | +2 | 680 | 7 | 4NT | +2 | -690
4 |wa| & 3¢ | +3 | -270| &® | 3NT | +1 | -630 | 10
5 | &b 7 2H = | -1120 | 7 2H = | -110
6 || it 2s | -2 | 100 | 4t 2s | -2 | -100
7 | WAl dt 3C = 110 it 3C = 110
8 |Wwxl 4t | INT | = 90 7 | ANTx| -1 | 100
9 |&Z&A| & A4H | +1 | 450 | 7 6H | -1 | -50 | 11
10 |sw&a|l &8 | 3NT | -1 | -100| B | 3NT | -1 | -100
11 | x| 7 2s | +1 | 140 | 7 4s | 1 50 5
12 | b db 6S = | 1430 | 7 7Dx | -5 | 1100| 8
DATUM%iit g
IRt I"'&Fa v -] 45 5
BRLCE/XUvsE 23 5K =/} CRERR -18 ait 45 5
D8R/ AIEE 18 i AWES /N -23 V.P. 18.78 | 1.22
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it : PREEH R BRBE it : BRK IR LERE
g EF 7 =EfF X 79 : SKFEREE
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 |WEk| zx | 3NT | = | 400 % | 3NT | = | -400
2 |l & | aNT | +2 | 660 | & 5c | = | 600 | 2
3 |zmAE| % | 3NT | +3 | 690 | % | 3NT | +3 | -690
4 |wal| 7 3c | +3 | 170 | & 3Cc | +2 | -150 1
5 |@db] @& | 3H | -1 | 50 7 | 2H = | -110] 4
6 |Zm| @ | 3H | 1 | 100 | & | 3H | -1 | 100
7 | XWAE| dt 3C -1 | -200| B | 3NT | +1 | 630 12
s |wxl %x | 20 | 2 | 100 | A | INT | -1 | 50 2
o |%m| m | eH | 1 | 50 | 4t | 7H | 2 | -100 | 2
10 |XEB| 46 | 3NT | = 600 & | 3NT | = 600
11 | wE| 7 2S = | 110 | % 2s | +1 | ;140 | 1
12 | @it 4t 4S +2 680 1t 4S +2 680
DATUM%iit 5 E
[E3f=3Iba) rIEFE v 5 ] 11 | 13
PR/ E 51 9 BRRR/ XIS 17 ait 11 | 13
IWERF/KFE -17 BB /b -9 V.P. 9.29 | 10.71
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| R NS IR . TR it : 22H R:.EE
EZRRCIAVA::: 74 . ERAK [z =S 79 : BRE
mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 |wx| = | aNT | +2 | 430 %® | 3NT | = | -400 1
2 |midt]l @ | 3NT | +2 | 660 | @ | 5¢ | = | 600 | 2
3 |%m| = | aNT | +3 | 690 | & | 3NT | +3 | -690
4 |wal % |anT | +1 | 630 & | anT | = | -600 1
5 |@dtl % |3NTx| -1 | 100 | & | 24 | = | ;110 s
6 |%Am| % |3NTx| -1 | 200 | @ | 34 | -1 | 100 | 3
7 |wBEl 46 | 2s | +1| 140 | B | ANT | 2 | 200 8
8 |wx| 4 | aNT | = 90 | & | AINT | = | -90 5
o |%@m| & | eH | -1 | 50 | & | 4H | +1 | 450 11
10 |wal 4t | aNT | +1 | 630 | B | aNT | -1 | -200 | 12
11 |kl & | 2s | = | 110 % | 2s | +1 | ;140 | 1
12 | Fgdb] db 55 | +1 | 680 it 6S = | 1430 13
DATUM%iit g
hLLIES Pkig{iteg v 5 ] 36 | 26
NI LRV 8 ZH/E% -3 ait 36 | 26
NS 3 TCER I/ R -8 V.P. 13.18 | 6.82
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo x 5D -1 50 x 3NT = -400 10
2 2] ¢ [£3] 5C = 600 1t 3NT -2 -200 13
3 panyiic] x 3NT +3 -690 x 3NT +3 -690
4 =] x 3NT +1 -630 x 3NT +3 -690 2
5 2] d Jris] 2H = -110 Jris] 2H = -110
6 panyiic] [£3] 3S -2 -100 1t 2S -2 -100
4 =] [£3] 3NT = 600 [£3] 4D -2 -200 13
8 NTo 1t INT +1 120 1t INT = 90 1
O | KAl =E 4aH +1 450 [£3] 4H +1 450
10 | N8B [£3] 3NT -1 -100 [£3] 3NT -1 -100
11 | N Jri] 2S = -110 x 2NT -3 150 6
12 | @it [£3] 4S +2 680 Jri] 6Dx -4 800 3
DATUM#:it T
=M E R e St Y. X+ 39 9
B/DMe/fhsRyy 11 SE/1RE -30 ait 39 9

T ER/AEFE 30 =RES/m it -11 V.P. 174 | 2.6




